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EE 6360 Fall 07 Quiz 3 Name:

1. (50 points)
(a) Determine the Discrete Fourier Series coefficients of the periodic sequence

x (n) = 2 cos [(2%/3) n] + 2 cos [(2n/5) n]
(b) Determine the Discrete Fourier Series Coefficients of the periodic sequence

y (n) = 2 cos [(2n/3) (n-2)] + 2 cos [(21t/5)( n-2)]
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2. (50 points)
Let
xi()={[sin(@n/3)]/(nn)} and x, ()= {sin{x{@®-2)/2)]/[x(n-2)]}
for n # 0 with
x; (0)=1/3 and x, (2) = V2.

Determine y(n) = x; (n) * x, (n) ( * denotes convolution), and sketch Y(®).
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